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(b) special_rot bonus: -0.5
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(m) special_rot bonus: -8.0
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special_rot bonus: -6.0
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special_rot bonus: -10.0
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4 276 278 296 298 325 326 327 328 330 336 337 338 375 384 385
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L
L

151 152 154 156 193 198 200 253 255 257 274 276 277 278 279 294 302 322 324 325 327 332 333 334 335 385
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bits

bits bits
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(a) special_rot bonus: 0.0
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(a) special_rot bonus: 0.0
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13 16 19 22 23 26 26 36 39 43 45 54 56 58 60 61 68 77 78 79 107 118 127 129 131
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4
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(c) special_rot bonus: -1.0
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(h) special_rot bonus: -3.5

bits
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(i) special_rot bonus: -4.0
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bits
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(1) special_rot bonus: -6.0

EI I -V

13 16 19 22 23 2 28 36 39 43 s % & 51 G 77 7 7 107 116 127 139 137

Toslike

3 16 19 22 55 2 28 95 3 43 45 54 56 58 60 61 63 77 7 70 107 118 127 19 131

special_rot bonus: -10.0

(m) special_rot bonus: -

bits

—~
=]
Nas?

bits

13 16 19 22 23 26 28 36 30 43 45 54 56 58 60 61 63 77 78 79 107 118 127 129 131

(o) special_rot bonus: Control

: | |
oA A

13 16 19 22 23 2 28 36 39 43 45 54 56 58 60 61 63 77 78 79 107 118 127 129 131

(p) special_rot bonus: Native

bits

13 16 19 22 23 26 28 36 39 43 45 54 56 58 60 61 63 77 78 79 107 118 127 129 131
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(a) special_rot bonus: 0.0

4
3

2

e \
1
0.

24 27 31 34 35 41 43 52 54 65 80 82 84 897 3

(b) special_rot bonus: -0.5

4.
3
2
B2
1
P
0.

24 27 31 34 35 41 43 52 54 65 80 82 84 89 91 5 110 118 120 122

(c) special_rot bonus: -1.0

Ay

24 27 31 34 35 41 43 52 54 65 80 82 84 89 91 5 110118 120 122

special_rot bonus: -1.5

0

bits

—
2

bits

24 27 31 34 35 41 43 52 54 65 80 62 84 89 91 95 110118 120 122

special_rot bonus: -2.0

—
@
~

bits

24 27 31 34 35 41 43 52 54 65 80 82 84 89 91 Y5 110118 120 122

(f) special_rot bonus: -2.5

L

24 27 31 34 35 41 43 52 54 65 80 82 84 89 91 5 110 118 120 122

special_rot bonus: -3.0

bits

—~
o)
-

bits

kY

25 27 31 34 35 41 43 52 54 65 80 62 84 89 91 95 110116 120 122

special_rot bonus: -3.5

—
=

bits

L=
24 27 31 34 35 41 43 52 54 65 80 62 84 89 91 95 110118 120 122

(i) special_rot bonus: -4.0

WA ERVFY

24 27 31 34 35 41 43 52 54 65 80 82 84 89 91 Y5 110 118 120 122

(j) special_rot bonus: -4.5

25 27 31 34 35 41 43 52 54 65 80 B2 84 B9 91 95 110 118 120 122

(k) special_rot bonus: -5.0

2 27 31 34 35 41 43 52 54 65 80 82 84 69 91 95 110 118 120 122

(1) special_rot bonus: -6.0

et vk

25 27 31 34 35 41 43 52 54 65 80 82 84 69 91 9 110 118 120 122

(m) special_rot bonus: -8.0

40
30

2

3 20
10 ¥
O34 57 31 5 35 41 43 52 54 65 80 62 84 89 91 5 110118 120 122

(n) special_rot bonus: -10.0

(ol

20 27 31 34 35 41 43 52 54 65 80 82 84 B9 91 95 110 118 120 122

its

bi

(o) special_rot bonus: Control

bits

24 27 31 34 35 41 43 52 54 65 80 82 84 89 91 795 110 118 120 122

(p) special_rot bonus: Native

bits

4
3
2
1
o

24 27 31 34 35 41 43 52 54 65 80 82 84 89 91 95 110 118 120 122

12
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(a) special_rot bonus: 0.0

AT

2 5 6 5 207200 211 216 230 222 226 230 202 245 250 251 252 254 255 256

(b) special_rot bonus: -0.5

AT

2 5 6 O 207209 211218 220 222 228 230 232 248 250 251 252 254 255 258

bits

bits

1

(c) special_rot bonus: -1.0

bits

2 5 6 9 207200211218 220 222 228 230 232 248 250 251 252 254 255 258

(d) special_rot bonus: -1.5

n AT

2 5 S’ 9 207 209 211 218 220 222 228 230 232 248 250 251 252 254 255 258

(e) special_rot bonus: -2.0

i d

2 5 6 O 207209211218 220 222 228 230 232 248 250 251 252 254 255 258

(f) special_rot bonus: -2.5

bits

bits

bits

211 218 220 222 226 230 232 248 250 251 252 254 255 256

W

2 5 6 9 207200211 218 220 222 228 230 232 248 250 251 252 254 255 258

2 5 6 9 207209

(g) special_rot bonus: -3.0

bits

4
3
2
1
o,

(h) special_rot bonus: -3.5

bits

1

2 5 6 1§ 207209211 218 220 222 228 230 232 248 250 251 252 254 255 258

(i) special_rot bonus: -4.0

bits

= ==
2 5 6 O 207209 211 218 220 222 228 230 232 248 250 251 252 254 255 258

(j) special_rot bonus: -4.5

bits

Al Z
° 5 6 9 207209 211 218 220 222 228 230 232 248 250 251 252 254 255 258

(k) special_rot bonus: -5.0

bits

2K

2 5 6 9 207200211 218 220 222 228 230 232 248 250

(1) special_rot bonus: -6.0

251 252 254 255 256

bits

25 6 O 207209 211 216 220 222 226 230 232 248 250 251 252 254 255 256

(m) special_rot bonus: -8.0

bits

bits

bits

=

2 5 6 9 207200211218 220 222 228 230 232 248 250 251 252 254 255 258

(p) special_rot bonus: Native

2 5 6 O 207209 211 218 220 222 228 230 232 248 250 251 252 254 255 258

13



13 2QRY

(a) special_rot bonus: 0.0

bits

'A_mﬂb

9 11 12 41 65 66 102 103 107 110 136 143 124 179 180 183 167 195 196 197 199 200 203 204 225 227 257 261 262 263

(b) special_rot bonus: -0.5

™77 T2 41 G5 G 102 105 107 110 130 145 134 179 180 183 157 195 196 197 195 200 205 204 328 227 357 301 262 263

(c) special_rot bonus: -1.0

‘ [ |
B
2
2,
!
. =

9 11 12 41 65 66 102 103 107 110 138 143 144 179 180 183 167 195 196 197 199 200 203 204 225 227 257 261 262 263

(d) special_rot bonus: -1.5

bits

bits

9 11 12 41 G5 o 102 103 107 110 138 143 134 179 180 163 187 195 196 197 199 200 203 204 525 257 257 261 260 263

(e) special_rot bonus: -2.0

<Ti

=
9711 12 41 65 66 102 103 107 110 138 143 134 179 180 183 187 195 196 197 199 200 203 204 225 227 257 261 262 263

(f) special_rot bonus: -2.5

g

79 11 12 41 65 66 102 103 107 110 138 143 144 179 180 183 187 195 196 197 199 200 203 204 225 227 257 261 262 263

(g) special_rot bonus: -3.0

Al

S 11 12 41 65 85 102103 107 110 138 143 144 179 180 183 187 195 136 197 199 200 203 204 255 227 257 261 262 263

(h) special_rot bonus: -3.5

bits

g

bits

:

V]
S 71 T2 4165 65 102 103107 110 138 143 124 179 180 163 187 195 196 197 199 200 206 208 225 227 257 F61 262 263

(i) special_rot bonus: -4.0

* [
3
2
F2
1
. = | =
97T T2 41 65 60 102 105107 110 136 143 144 173 180 163 157 195 196 197 199 200 205 204 025 227 257 261 252 263

(j) special_rot bonus: -4.5

WA

9711 12 41 65 66 102 103 107 110 198 143 144 179 180 163 167 195 196 197 199 200 203 204 225 267 257 261 262 263

(k) special_rot bonus: -5.0

il

9 11 12 41 65 66 102 103 107 110 138 143 134 179 180 183 167 195 196 197 199 200 203 204 225 227 257 261 262 263

(1) special_rot bonus: -6.0

W

9 11 12 41 65 66 102 103 107 110 138 143 144 179 180 183 187 195 196 197 199 200 203 204 225 227 257 261 262 263

(m) special_rot bonus: -8.0

bits
Eg |

bits
il
Ez:iif.

bits
il
Eg::;_

bits

E

9 T1 T2 41 65 6 102103 107 10 136 143 144 175 180 185 167 195 196 197 198 200 203 204 255 627 257 o1 262 203

(n) special_rot bonus: -10.0

:

»
195 196 197 199 200 203 204 225 227 257 261 262 263

(o) special_rot bonus: Control

3
2
52

1

9 Ti T2 41 65 6o 102 100 107 110 136 143 174 173 180 163 167 195 196 197 199 200 203 204 255 227 267 261 262 260

(p) special_rot bonus: Native

:

bits
Eééggié

oot 9 11 12 41 65 66 102 103 107 110 138 143 144 179 180 183 187 195 196 197 199 200 203 204 225 227 257 261 262 263
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(a) special_rot bonus:

T8 21 22 27 28 31 95 41 44

45 47 48

(b) special_rot bonus: -0.5

0 E )
T8 21 22 27 28 31 G 41 44 45 47 45 4 52 53

(c) special_rot bonus: -1.0

45 47 48 49 52 53

(d) spec1allot bonus: -1.5

106 109 110 113 115 120 1.

bits

4
3
2
1
0

- 5 86 67 89 %0 91

s
T o1 22 27 26 51 3 41 44 45 47 &6 B % 59

(f) special_rot bonus: -2.5

56 86 67 89 90 91

T8 21 22 27 28 31 35 41 44 45 47 48 49 52 53

(g) special_rot bonus: -3.0

o 35 57 %

92 93 94 98

|

106 109 110 113 115 120 123 126 127 144 201 208 212 227

s, =
To 21 2227 20 81 3 41 44 45 47 4o 43 52 53 50 86 67 69 % 9

(h) special_rot bonus: -3.5

.

3.
v
52 T

:

Q
. ¢
TR TR R T R

56 86 87 89 90 91

(i) special_rot bonus: -4.0

T8 21 22 27 28 91 %5 41 44 45 47 48 4 52 53

(j) special_rot bonus: -4.5

L]
92 93 94 98

92 9 94 9

AL = s
106 109 110 113 115 120 123 126 127 144 201 208 212 227

o o J

X 4

106109 110 11 115 120 123 126 127 144 201 208 212 227

& o )

Tl

!

"6 8 B7 69 950 S1 52 53 94 98 106 109 110 173 115 120 123 136 157 134 201 208 212 257

35 41 44 45 47 48 49 52 59

-5.0

18 21 22 27 28 81

(k) special_rot bonus:

AL

=,

56 8 67 69 90 91

Yoy

18 21 22 27 28

bits

35 41 44 45 47 48 49 52 53 56 86 8 89 90 91

(1) special_rot bonus: -6.0

% 52 53 5 8 67 69 9 9

T8 o1 22 27 25 91 05 41 44 45 47 %

(o) special_rot bonus: Control

bits

= ;=1 .t == | = =
T8 21 22 27 28 31 35 41 44 45 47 48 49 52 3 6 6 67 89 90 91

special_rot bonus: Native

%2 9 95 98

92 93 94 98

S w5 o 98

106 109 110 113 115 120 123 126 127 144 201 208 212 227

I

106 108 110 113 115 120 123 126 127 144 201 208 212 227

X

=]

105 105 170 113 176 120 125 125 127 144 201 208 212 227

18 21 22 27 28 31 35 41 44 45 47 48 49 52 53 56 86 87 89 90 91 92 93 94 98 106109 110 113 115 120 123 126 127 144 201 208 212 227

15
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(a) special_rot bonus: 0.0

To T 1519 20 25 2 0 % % % 40 40 o1 55 57 58

(b) special_rot bonus: -0.5

E_ mt | A
T0 T 1519 20 25 7 0 % % G 40 42 O % 56 5 87 5

¢) special_rot bonus: -1.0

4, L
3
£l
S
1
o

10 13 16 19 20 25 29 30 82 33 36 40 53 54 55 57 58

(d) special_rot bonus: -1.5

0T T T oS B B B e o e B 5 % T

(e) special_rot bonus: -2.0

4
3

2

g ﬁU
1
. =

0 T3 16 19 20 25 29 30 G2 33 36 40 42 51 63 54 5 &7 58

(f) special_rot bonus: -2.5

4, L ]
s
2
£ M
‘
R i s B S o S
(g) special_rot bonus: -3.0
4, L ]
3.
F-]
52
: M
OO R T 2 B B D o s

(h) special_rot bonus: -3.5

!

bits

(i) special_rot bonus: -4.0

4.
3

2

B2
1
0.

59 60 7

59 60

=

59 60

S 6 74 75 76 119115 134 136 135

%

76 113 115 124 126 128

=
==

76 113 115 124 126 128

=
=

59 60 74 75 76 113 15 124 126 128

59 60 74 75 76 113 115 124 126 128

=

76 113 115 124 126 128

59 60 74 75 76 113 115 124 126 128

=
=3

10 13 16 19 20 25 29 30 82 33 36 40 42 51 53 54 55 57 58 59 60 74 75 76 113 115 124 126 128

=
=2

10 13 16 19 20 25 29 30 82 33 36 40 42 51 53 54 55 57 58 59 60 74 75 76 113 115 124 126 128

(j) special_rot bonus: -4.5

LMDk

bits

-

=

10 13 16 19 20 25 29 30 82 33 36 40 53 54 55 57 56 59 60 74 75 76 113 115 124 126 128

(k) special_rot bonus: -5.0

(1) special_rot bonus: -6.0

(n) special_rot bonus: -10.0

bits

(o) special_rot bonus: Control

(p) special_rot bonus: Native

bits

V= Q Y
o !
013 1619 20 25 25 90 2 33 3 40 42 51 53 54 55 57 sa 9 60 74 75 76 113 115 134 136 128

"

10 13 16 19 20 25 29 30 82 33 36 40 42 51 53 54 55 57 58 59 60 74 75 76 113 115 124 126 128

o SE

T0 13 16 19 20 25 29 30 G2 33 36 40 42 51 53 54 55 57 58 59 60 74 75 76 113 115 124 126 128

-
TI0 T 161920 25 2 3052 G 3 40 42 ST 5 54 55 57 &5 59 80 74 75 76 113 115 124 126 128

10 13 16 19 20 25 29 30 82 33 36 40 42 51 53 54 55 57 58 59 60 74 75 76 113 115 124 126 128

16
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(a) special_rot bonus: 0.0

1 12 13 15 17 31 33 34 85 37 38 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

==L .
T1 12 13 15 17 31 33 34 35 87 38 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

(c) special_rot bonus: -1.0

sk

52 L = [m}=
1112 13 15 17 31 33 34 35 &7 38 42 44 60 62 64 71 73 74 75 77 91 93 5 109 113 115 224 226 227

bits

4
3
2
1
o

(d) special_rot bonus: -1.5

AT s

T 12 13 15 17 31 83 84 85 37 38 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

(e) special_rot bonus: -2.0

bits

bits

4
3
2
1
0

T1 12 13 15 17 31 83 84 85 37 B 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 24 236 257

(f) special_rot bonus: -2.5
TlFue

T1 12 13 15 17 31 83 34 35 37 33 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

(g) special_rot bonus: -3.0

44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

bits

4
3
2
1
o,

11 12 13 15 17 31 33 34 85 a7 38 42

(h) special_rot bonus: -3.5

bits

T 12 13 15 17 81 83 34 35 37 38 42 44 60 62 64 71 73 74 75 77 81 93 95 109 113 115 224 226 227

(i) special_rot bonus: -4.0

e

T1 12 13 15 17 31 33 34 35 37 38 42 44 60 62 64 71 73 74 75 77 91 93 5 109 113 115 224 226 227

(j) special_rot bonus: -4.5

;

T1 12 13 15 17 31 83 34 35 37 38 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

(k) special_rot bonus: -5.0

;

== 8 £ = ==
11 12 13 15 17 31 33 34 35 37 38 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

(1) special_rot bonus: -6.0

bits

bits

bits

sSKE -~ = = == A F 3 X
1 12 13 15 17 31 33 34 35 37 38 42 44 60 62 64 71 73 74 75 77 91

D

OIS = ] = =
0 SV S = 4
11 12 13 15 17 31 33 34 35 a7 38 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115

(o) special_rot bonus: Control

bits

T 12 13 15 17 81 33 3 35 37 38 42 44 60 G2 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

(p) special_rot bonus: Native

bits

1 12 13 15 17 31 33 34 85 37 38 42 44 60 62 64 71 73 74 75 77 91 93 95 109 113 115 224 226 227

17
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(a) special_rot bonus: 0.0

(b) special_rot bonus: -0.5

bits

s

42 43 77 78 93 94 97 98 102 122 124 125 126 127 209 210 212 213

(c) special_rot bonus: -1.0

oSEtel

42 43 77 78 93 04 97 98 102 122 124 125 126 127 209 210 212 213

(d) special_rot bonus: -1.5

‘ | |
3.
2
2,
:
T T S o 5T 102 % o e 1 B OTRA
(e) special_rot bonus: -2.0
‘ | |
s
2
2.
|
it BIYEN
o 42 43 77 78 93 94 97 98 102 122 124 125 126 127 209 210 212 213

(f) special_rot bonus: -2.5

bits

bits

Rt

=

212 213

<>

|

@2 43 77 78 93 94 §7 98 102 122 124 125 136 127 200 210 212 213

special_rot bonus: -3.5

=

42 43 77 78 93 94 97 98 102 122 124 125 126 127 209 210

(i) special_rot bonus: -4.0

(k)

its

bi

4
3
2
1
o

(1) special_rot bonus: -6.0

(0)

(p)

bits

4
3
2
1
o

=

0212 213

=]

212 213

special_rot bonus: -5.0

VAR

42 43 77 78 93 94 97 98 102 122 124 125 126 137 209 210 212 215

=

=

0212 213

=

0212 213

FO_<l

7 9 o4 o7

special_rot bonus: Control

ST

42 43 77 78 93 94 97 98 102 122 124 125 126 127 209 210 212 213

special_rot bonus: Native

127 209 210 212 213

tso'

42 43 77 78 93 94 97 98 102 122 124 125 126 127 209 210 212 213

18
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(a) special_rot bonus: 0.0

bits

4 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64 78 79

special_rot bonus: -0.5

—
=

bits

o 14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(c) special_rot bonus: -1.0

80 108 110 117 119 121 130 132

=

108 110 117 119 121 130 132

bits
E

T4 17 20 23 24 29 34 37 40 41 44 57 59 61 62 B4

(d) special_rot bonus: -1.5

108 110 117 119 121 130 132

bits
E‘

14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(e) special_rot bonus: -2.0

bits

.
a
2
i
o 14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(f) special_rot bonus: -2.5

A

T4 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(g) special_rot bonus: -3.0

its

bi

4
3
2
1
00T 2023 24 29 34 37 40 41 44 57 59 61 62 64

(h) special_rot bonus: -3.5

i

14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(i) special_rot bonus: -4.0

1

T4 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64 78 79

bits

its

bi

(j) special_rot bonus: -4.5

Q

° LY
T4 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(k) special_rot bonus: -5.0

bits

Q

? W

T4 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(1) special_rot bonus: -6.0

bits

14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(m) special_rot bonus: -8.0

W

14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64 78 79

(n) special_rot bonus: -10.0

| \

0

bits

bits

14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64

(o) special_rot bonus: Contro

4
3.

2

S
1
o.

14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64 78 79

(p) special_rot bonus: Native

=

bits

14 17 20 23 24 29 34 37 40 41 44 57 59 61 62 64 78 79

EEEEEE

80 108 110 117 119 121 130 132

e

108 110 117 119 121 130 132

.

108 110 117 119 121 130 132

108 110 117 119 121 130 132

108 110 117 119 121 130 132

80 108 110 117 119 121 130 132

80 108 110 117 119 121 130 132

80 108 110 117 119 121 130 132

80 108 110 117 119 121 130 132

=

80 108 110 117 119 121 130 132

80 108 110 117 119 121 130 132

2

80 108 110 117 119 121 130 132

80 108 110 117 119 121 130 132

19
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1TOU

(a) special_rot bonus: 0.0

bits

9

(b) special_rot bonus: -0.5

e

10 18 16 19 20 25 82 33 36 37 39 40 41 42 51 63 54 55 57 58 59 €0

10 13 16 19 20 25 82 33 36 37 39 40 41 42 51 53 54 55 57 58 59 60

(d) special_rot bonus: -1.5
o
3.0
2
e
o]\
. 5 = [\ Y
S B R D R T RS A R BN RE ®

10 13 16 19 20 25 32 33 36 37 39 40 41 42 51 7537 54 55 57 58 59 60

(f) special_rot bonus: -2.5

) 10 13 16 19 20 25 G2 33 36 37 39 40 41 42 51 58 54 55 57 58 59 60

(g) special_rot bonus: -3.0

—
=

NaZ
[

bits

(i) special_rot bonus: -4.0

special _rot bonus: -3.5

LJMW [ lvéSE

]

74 75 76 113 115 124 126 128

=

75 76 113 115 124 126 128

=

75 76 113 115 124 126 128

=

75 76 113 115 124 126 128

=

74 75 76 113 115 124 126 128

%

75 76 113 115 124 126 128

%

10 13 16 19 20 25 32 33 36 a7 39 40 41 53 54 55 57 58 50 60

10 13 16 19 20 25 32 33 36 37 39 40 41 1 53 54 55 57 58 59 60

bits

bits

9

—~
=

~—
o2}

bits

9

¥

5 10 13 16 19 20 25 82 3 3 47 % 40 41 42 51 53 54 55 57 58 59 €0

(j) special_rot bonus: -4.5

IR

75 76 113 115 124 126 128

%

75 76 113 115 124 126 128

%

74 75 76 113 115 124 126 128

%

10 13 16 19 20 25 32 33 G &7 39 40 41 53 54 55 57 58 50 60

pecial_rot bonus: -5.0

9073 16 19 20 2532 3 T 37 30 40 41 42 51 53 54 55 57 5 S 60

(1) special_rot bonus: -6.0

bits

9

1015 16 19 20 25 32 3 3 07 3 40 4T 42 51 53 54 55 57 58 5 60

(m) special_rot bonus: -8.0

bits

9

10 13 16 19 20 25 62 3 36 37 39 40 41 42 51 53 54 55 57 58 % 60

(n) special_rot bonus: -10.0

bits

9

0 13 16 19 20 25 32 33 G &7 39 40 41 53 54 55 57 58 59 60

(o) special_rot bonus: Control

—~

T

=
)

bits

10 13 16 1920 25 32 33 3 67 39 40 41 42 51 53 5¢ 55 5 5B 59 €0

pecial_rot bonus: Native

4
3
2
1
o

9 10 13 16 19 20 25 32 33 36 37 39 40 41

53 54 55 57 58 59 60

75 76 113 115 124 126 128

%

75 76 113 115 124 126 128

E'

75 76 113 115 124 126 128

=

74 75 76 113 115 124 126 128

75 76 113 115 124 126 128

%

75 76 113 115 124 126 128

74 75 76 113 115 124 126 128
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(a) special_rot bonus: 0.0

bits

4
3
2
1
0

(b) special_rot bonus: -0.5

bits

1

o 11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(c) special_rot bonus: -1.0

bits

1112 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(d) special_rot bonus: -1.5

1112 13 15 17 31 33 84 85 37 38 42 44 63 65 67 74 76 78 80

(e) special_rot bonus: -2.0

1 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(f) special_rot bonus: -2.5

11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 8

(g) special_rot bonus: -3.0

4
3

F-]

F2
1
o,

=
1112 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(h) special_rot bonus: -3.5

11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(i) special_rot bonus: -4.0

its

bi

.
a
2
i
o 11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(j) special_rot bonus: -4.5

11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 8

(k) special_rot bonus: -5.0

4
3
%)
1
S
o.

1112 13 15 17 31 33 34 35 a7 38 42 44 63 65 67 74 76 78 80

(1) special_rot bonus: -6.0
AKT
“WS

11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(m) special_rot bonus: -8.0

.
2 K
WS
o 11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(n) special_rot bonus: -10.0

185 s

° 11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(o) special_rot bonus: Control

bits

bits

bits

11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

(p) special_rot bonus: Native

11 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80

[
1 12 13 15 17 31 33 34 35 37 38 42 44 63 65 67 74 76 78 80 94 96 98 112 116 118 228 230 231 234

—

U

Vo=

F

98 112 116 118 228 230 231 234

, |
o=
AT

98 112 116 118 228 230 231 23

|
1O=
AT

95 112 116 116 226 230 231 234

=

98 112 116 118 228 230 231 234

=

98 112 116 118 228 230 231 234

|
NO=
ATT1

98 112 116 116 228

30 231 23

|
o=
< M'ﬂ

98 112 116 118 228

30 2

o=
AT

98 112 116 118 228 230 231 234

2

98 112 116 118 228 230 231 23

TO=

oo
IAT]

98 112 116 118 228 230 231 23:

3

98 112 116 118 228 230 231 234

2

98 112 116 118 228 230 231 234

2

96 98 112 116 116 228 230 231 234

UE

98 112 116 118 228 230 231 23:

94 96 98 112 116 118 228 230 231 234
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21 4AFG

(a) special_rot bonus: 0.0

i

24 99 151 152 153 156 155 153 167 198 200 252 275 277 257 259 326 357 329 331 357 339 376 386

(b) special_rot bonus: -0.5

bits

=] == =
24 99 151 152 153 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

(d) special_rot bonus: -1.5

2499 151 152 153 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

(e) special_rot bonus: -2.0

ol T BT

=2 =
24 99 151 152 158 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

(f) special_rot bonus: -2.5

bits

bits

bits

0

= 3
24 99 151 152 153 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

special_rot bonus: -3.5

24 99 151 152 153 154 155 195 197 186 200 252 275 277 237 299 326 327 329 331 337 339 376 366

(i) special_rot bonus: -4.0

—
=

bits

Ly <
24 99 151 152 153 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

(j) special_rot bonus: -4.5

e

2 ==
24 99 151 152 153 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

(k) special_rot bonus: -5.0

OV ecstenlErd

= =4
24 99 151 152 153 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

(1) special_rot bonus: -6.0

U

24 99 151 152 153 154 155 193 197 196 200 252 275 277 207 299 326 327 329 31 337 339 376 366

(m) special_rot bonus: -8.0

bits

bits

bits

bits

i

24 99 151 152 153 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

(n) special_rot bonus: -10.0

bits

24 99 151 152 153 154 155 193 197 198 200 252 275 277 237 299

(p) special_rot bonus: Native

126 327 329 331 337 339 376 386

0

24 99 151 152 153 154 155 193 197 198 200 252 275 277 297 299 326 327 329 331 337 339 376 386

bits

22



22 4AFH

(a)

bits

—
=

bits

0

()

bits

bits

bits

special_rot bonus: 0.0

25 95 100 152 106 152 153 154 155 156 192 154 201 250 277 279 301 925 526 341 346

special_rot bonus: -0.5

25 98 100 102 108 152 153 154 155 156 192 194 201 256 277 279 301 325 328 341 388

special_rot bonus: -1.0

A s{FRED:

i WA~ N AL
25 98 100 102 108 152 153 154 155 156 192 14 201 256 277 279 301 325 328 341 368

special_rot bonus: -1.5

A|\S T

= H,

L=

25 98 100 102 108 152 153 154 155 156 192 134 201 256 277 279 301 325 328 341 388

pecial_rot bonus: -2.0

2

N

[

25 98 100 102 108 152 153 154 155 156 192 194 201 256 277 279 301 325 328 341 368

special_rot bonus: -2.5

s

5 98 100 102 108 152 153 154 155 156 192 194 201 256 277 279 301 325 32

special_rot bonus: -3.0

341 388

DT\l

25 98 100 102 108 152 153 154 155 156 192 194 201 256 277 279 301 325 328 341 368

special_rot bonus: -3.5

|| V. =
25 98 100 102 108 152 153 154 155 156 192 134 201 256 277 279 301 325 328 341 388

(i) special_rot bonus: -4.0

bits

4
3
2
1
0,

ALY

25 98 100 102 108 152 153 154 155 156 192 194 201 256 277 279 301 325 328 341 368

(j) special_rot bonus: -4.5

bits

bits

25 98 100 102 108 152 153 15 155 156 192 104 201 256 277 279 301 325 328 341 368

special_rot bonus: -5.0
= N |
56 00 132103153 15 150 155 8 1 o B 2 57 57 301 25 250 211 9

el

25 98 100 102 108 152 153 154 155 156 192 134 201 256 277 279 301 325 328 341 368

2

(m) special_rot bonus: -8.0

bits

L | Q===
5 98 100 102 108 152 153 154 155 156 192 194 201 256 277 279 301 325 328 341 388

special_rot bonus: -10.0

()

Ly t=) =
25 98 100 102 108 152 153 154 155 156 192 194 201 256 277 279 301 325 328 341 368

special_rot bonus: Control

. T

25 98 100 102 108 152 153 154 155 156 192 134 201 256 277 279 301 325 328 341 388

special_rot bonus: Native

25 98 100 102 108 152 153 154 155 156 192 194 201 256 277 279 301 325 328 341 368

23



